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What is a binomial?
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(a+ b)° = 1

(a + b)Y = a+ b

(a+ b) = a* + 2ab + b*

(a + by = a + 3a°h + 3ab® + B

(a + b)* = at + 4a’b + 6atb? + dab® + b*

(a+ b)Y =a + 5a*+ 10470 + 10226 + 5ab* + b°

What do we notice?

* |In each expansion there are n+1 terms

* In each expansion,@ and b have symmetrical roles

» The sume of the powers of each term is n.

» The coefficients increase and then decrease in a
symmetric pattern.
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Finding binomial coefficients
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Find the coefficient of the 6th term in
the expansion of (x + y)'
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The Binomial Theorem:

(X +y)n= X"+ nxTly .+ G XY L+ nxy™T 4oy

Expand:

2 % 93
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Another way to find coefficents:

(a + b)" = 1

(a+ b)) = a+ b

(a + b): = at + 2ab + b*

(a+ b)Y = a® + 3a°h + 3ab* + B

(a + b)* = at + 4a*b + 6atb* + dab® + b

(a + b)Y = a® + 5a* + 1087 + 10a26* + 5ab* + b°

Pascal's Triangle:
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Expand:

X +y) =
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Pascal's

Find therm of (a+2b)® | g 26 s0o@) 28 8
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(X +y)n= X"+ nxvTy .+ Cp XY H L+ XY™+ oy
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